Bid #PNC2116455C1 - Green Belt Park Irrigation Main Extension

Start Date Aug 24, 2018 2:40:19 PM EDT Awarded Date Not Yet Awarded

| PNC2116455C101-01 Imported Item Lot: BONDS AND INSURANCE | | | | | | | | |
|----------------------------------------------------------|---------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$37,000.00 | 1 / lump sum | \$37,000.00 | Υ | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$65,000.00 | 1 / lump sum | \$65,000.00 | Υ | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | code: | | | | | |

| PNC2110455C101-02 Imported itel | n Lot: MOBILIZATION / D | EMOBILIZATION | | | |
|-----------------------------------------|--------------------------|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------------------------------------------------------------------------------------------|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs |
| SkyData UAV | First Offer - \$2,450.00 | 1 / lump sum | \$2,450.00 | Υ | Υ |
| SkyData UAV Product Code: Agency Notes: | First Offer · \$2,450.00 | Supplier Product C Supplier Notes: Pro Park Irrigation Main Ex The project is located Lauderdale Hollywood swail bordering the so Road. Proposed Photography Prior to commenceme Mobilization Phase, th both sides of the roads roads throughout the so zone will be captured including driveways, si landscaping, culverts, to Once per month and p information, the comp of individual and a co completed work and th appearance of the are Deliverables - Photograph application for Payme B. Provide photographs glossy surface, 8-inch o D. Identify each print o location, date and time SkyData UAV, and nu E. The photographs a and sharpness, maxin distortion. F. Electronic files of pt the SkyData to the cor and the county. G. Photograph from loc condition of construction | ode: ject Area - Bid #PNC211 ktension eastern and southern p I International Airport a uthern airport exit, US of and Video Services ent of construction and ee entire length and, who is and along the grass is approximately 6,900-for while walking on a narrodewalks, curbs, pavementences, signs and headwork area to will be imposite photographs are adjacent areas to do and the work completed work area to will be imposite photographs are adjacent areas to do and the work complete aphy is taken on cutoff date int. Single weight, color processing the photographs will be made with the property of the submission of each view. Single weight, color processing the photographs shall be proposed to the processing that adequately on and state of progressing include aerial photographs. | during the area approvails bord on construents, ditch walls. of work proper capture and video occument the ted. for each so did address iffication. with high red minimum vided on E | Green Be f the For s a grass meter priate, ering the action o, es, ogress a series of the e cheduled smooth pecific of esolution of esolution of ey by D by |

entire 6,900 feet where construction will occur to capture with a high-definition video camera and provide a narrative the details of the existing conditions of roads, parking lots, sidewalks, curbs, storm drains, sewer and water manhole covers and vegetation. Scope of work indicated in the Specifications and Requirements document:

The audio track will be an original live recording with a narrative commentary by the SkyData UAV videographer, recorded simultaneously with fixed elevation video record of the zone of influence of construction.

All video recordings will, by electronic means, display continuously and simultaneously generated with the actual transparent digital information to include the date and time of recording, and station numbers as shown on the drawings. The date information will contain the month, day and year. The time information shall contain the hour, minutes and seconds. Additional information shall be displayed periodically. Such information shall include, but not be limited to, project name, contract number, name of street, direction of travel and the viewing side. This transparent information will appear on the upper middle portion of the screen.

Deliverables: DVDs of HD recordings.

Equipment

DJI Phantom 4 Pro

JVC GY-HM170UA 4KCAM Compact Professional Camcorder and shoulder mount

Sony Uwp-V1 Wireless Microphone System

Canon 7D DSLR Camera

Video editing equipment and software: iMac, Photoshop, Premiere, and 3D Robotics SiteScan software for processing aerial photography

Projects Completed In the Past 12 Months

Broward County Water and Sewer System · Hillsboro Mile Sewer System · PNC2115756C

Broward County Water and Sewer System \cdot Lauderdale Lakes - UAZ 113B

Pre-Construction Phase - 6,900 feet of the Project Area · Video and Photography · \$1,150

- Ground video with narration of existing conditions of all roads and swails
- Aerial drone photography (orthomosaic) of approx. 6,900 feet of roads, parking lots and swails if allowed by FLL
- Ground photography of construction route documenting existing landscaping, sidewalks, roads and swails
- Aerial photographs of the entire construction site
 Per Visit Cost Once Per Month for Ground Photography and
 Video of Completed Segments @ \$325/visit 4 visits \$1,300
- Aerial and ground photography and video of the completed segments with audio narration of the existing conditions

| DBF CONSTRUCTION LLC | First Offer - \$37,000.00 | 1 / lump sum | \$37,000.00 | Υ |
|---------------------------------------|---------------------------|---------------------------------------|-------------|---|
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | code: | |
| Southern Underground Industries, Inc. | First Offer - \$65,000.00 | 1 / lump sum | \$65,000.00 | Υ |
| Product Code: | | Supplier Product C | ode: | |
| Agency Notes: | | Supplier Notes: | | |

| PNC2116455C101-03 Imported Item Lot: INSURANCE AND MOBILIZATION | | | | | | | | |
|-----------------------------------------------------------------|------------|----------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |

| DBF CONSTRUCTION LLC | First Offer - \$2,500.00 | 1 / lump sum | \$2,500.00 | | Υ |
|---------------------------------------|----------------------------|-----------------|--------------|--|---|
| Product Code: | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | |
| Southern Underground Industries, Inc. | First Offer - \$165,000.00 | 1 / lump sum | \$165,000.00 | | Υ |
| Product Code: | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | |

| PNC2116455C101-04 Imported Item Lot: MAINTENACE OF TRAFFIC | | | | | | | | | |
|------------------------------------------------------------|---------------|-------------------------------------------|---------------------------------------|-------------|--------|------|--|--|--|
| Supplier | | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - | \$20,000.00 | 1 / lump sum | \$20,000.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - | \$37,000.00 | 1 / lump sum | \$37,000.00 | | Υ | | | |
| Product Code: Agency Notes: | | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-05 Imported Item Lot: SURVEY | | | | | | | | |
|---------------------------------------------|---------------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$20,000.00 | 1 / lump sum | \$20,000.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$30,000.00 | 1 / lump sum | \$30,000.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-06 Imported Item Lot: TESTING | | | | | | | | | |
|----------------------------------------------|-------------------------|---------------------------------------|-------------------------------------------|--------|------|--|--|--|--|
| Supplier | Unit Pri | ce Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$10,000. | 00 1 / lump sum | \$10,000.00 | | Υ | | | | |
| | | Supplier Product C Supplier Notes: | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$23,000. | 00 1 / lump sum | \$23,000.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | Code: | | | | | | |

| PNC2116455C101-07 Imported Item Lot: 2 inch PVC (WHITE) CLASS 200, SDR 21 | | | | | | | | | | |
|---------------------------------------------------------------------------|-----------------------|-------------------------------------------|-------------|--------|------|--|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$17.00 | 241 / linear foot | \$4,097.00 | | Υ | | | | | |
| Product Code: Supplier Product Code: | | | | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$28.50 | 241 / linear foot | \$6,868.50 | | Υ | | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | | |

| PNC2116455C101-08 Imported Item Lot: 2.5 inch PVC (WHITE) CLASS 200, SDR 21 | | | | | | | | | |
|-----------------------------------------------------------------------------|-----------------------|-------------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| Southern Underground Industries, Inc. | First Offer - \$17.00 | 281 / linear foot | \$4,777.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| DBF CONSTRUCTION LLC 👔 | First Offer - \$29.00 | 281 / linear foot | \$8,149.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |

| PNC2116455C101-09 | Imported Item Lot: 4 in | nch PVC (WHITE) C900, SDR 18 | | |
|-------------------|-------------------------|------------------------------|--|--|
| | | | | |

| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | |
|---------------------------------------|-----------------------|-------------------------------------------|-------------|--------|------|--|
| Southern Underground Industries, Inc. | First Offer - \$26.00 | 1237 / linear foot | \$32,162.00 | | Υ | |
| Product Code: | | Supplier Product Code: | | | | |
| Agency Notes: | Supplier Notes: | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$28.50 | 1237 / linear foot | \$35,254.50 | | Υ | |
| | | Supplier Product Code: Supplier Notes: | | | | |

| PNC2116455C101-10 Imported Item Lot: 6 inch PVC (WHITE) C900, SDR 18 | | | | | | | | | |
|----------------------------------------------------------------------|-----------------------|-------------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$35.50 | 58 / linear foot | \$2,059.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$97.00 | 58 / linear foot | \$5,626.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-11 Imported Item Lot: 8 inch PVC (WHITE) C900, SDR 18 | | | | | | | | | |
|----------------------------------------------------------------------|-----------------------|----------------------------------------|--------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$34.50 | 5046 / linear foot | \$174,087.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$47.00 | 5046 / linear foot | \$237,162.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | · | · | | | | |

| PNC2116455C101-12 Imported Item Lot: 12 inches PVC (WHITE) C900, SDR 18 | | | | | | | | | |
|-------------------------------------------------------------------------|-----------------------|-------------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$50.00 | 30 / linear foot | \$1,500.00 | | Υ | | | | |
| Product Code: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$84.00 | 30 / linear foot | \$2,520.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-13 Imported Item Lot: 10 inch CASING W/ 6 inch CARRIER (HDPE) DIRECTIONAL DRILL | | | | | | | | |
|------------------------------------------------------------------------------------------------|------------------------|--------------------------------------------------|-------------|--|---|--|--|--|
| Supplier | Unit Price | Unit Price Qty/Unit Total Price Attch. D | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$192.00 | 292 / linear foot | \$56,064.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$260.00 | 292 / linear foot | \$75,920.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-14 Imported Item Lot: 16 inch CASING W/ 10 inch CARRIER (HDPE) DIRECTIONAL DRILL | | | | | | | | | |
|-------------------------------------------------------------------------------------------------|------------------------|---------------------|--------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$284.50 | 494 / linear foot | \$140,543.00 | | Υ | | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$310.00 | 494 / linear foot | \$153,140.00 | | Υ | | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| | | | | | | | | | |

| PNC2116455C101-15 Imported Item Lot: 12 inch STEEL CASING W/ 8 inch DIP CARRIER JACK AND BORE | | | | | | | | |
|-----------------------------------------------------------------------------------------------|------------------------|---------------------|--------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$580.00 | 310 / linear foot | \$179,800.00 | | Υ | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$585.00 | 310 / linear foot | \$181,350.00 | | Υ | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |

| PNC2116455C101-16 Imported Item Lot: VENT PIPE MANHOLE | | | | | | | | |
|--------------------------------------------------------|---------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$5,360.00 | 4 / each | \$21,440.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$15,000.00 | 4 / each | \$60,000.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-17 Imported Item Lot: BCAD BADGED ESCORT | | | | | | | | |
|---------------------------------------------------------|------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$130.00 | 40 / hour | \$5,200.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$251.00 | 40 / hour | \$10,040.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-18 Imported Item Lot: FIRE SAFETY | | | | | | | | | |
|--------------------------------------------------|------------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| Southern Underground Industries, Inc. | First Offer - \$250.00 | 24 / hour | \$6,000.00 | | Υ | | | | |
| Product Code: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$251.00 | 24 / hour | \$6,024.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-19 Imported Item Lot: CONNECT TO EXISTING IRRIGATION LINE | | | | | | | | | |
|--------------------------------------------------------------------------|--------------------------|---------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$785.00 | 9 / each | \$7,065.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$2,400.00 | 9 / each | \$21,600.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-20 Imported Item Lot: 4 inches by 4 inches DIP CROSS | | | | | | | | |
|---------------------------------------------------------------------|--------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$347.00 | 1 / each | \$347.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$1,000.00 | 1 / each | \$1,000.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-21 Imported Item Lot: 8 inch by 4 inch DIP TEE | | | | | | | | | |
|---------------------------------------------------------------|--------------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$354.00 | 1 / each | \$354.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$1,100.00 | 1 / each | \$1,100.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-22 Imported Item Lot: 8 inch by 2 inch DIP TEE | | | | | | | | | |
|---------------------------------------------------------------|--------------------------|--------------------|-------------|--------|------|--|--|--|--|
| Supplier Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$390.00 | 4 / each | \$1,560.00 | | Υ | | | | |
| Product Code: | 1 | Supplier Product C | ode: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$1,100.00 | 4 / each | \$4,400.00 | | Υ | | | | |
| Product Code: | _ | Supplier Product C | ode: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |

| PNC2116455C101-23 Imported Item Lot: 4 inch DUCTILE IRON ELBOW | | | | | | | | | |
|----------------------------------------------------------------|------------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$190.00 | 15 / each | \$2,850.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$510.00 | 15 / each | \$7,650.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-24 Imported Item Lot: 8 inch DUCTILE IRON ELBOW | | | | | | | | | |
|----------------------------------------------------------------|------------------------|-------------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$280.00 | 51 / each | \$14,280.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$700.00 | 51 / each | \$35,700.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-25 Imported Item Lot: 2 inch GATE VALVE | | | | | | | | | |
|--------------------------------------------------------|------------------------|------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$522.00 | 5 / each | \$2,610.00 | | Υ | | | | |
| Product Code: | | Supplier Product Code: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$880.00 | 5 / each | \$4,400.00 | | Υ | | | | |
| Product Code: | | Supplier Product Code: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |

| PNC2116455C101-26 Imported Item Lot: 2.5 inch GATE VALVE | | | | | | | | | |
|----------------------------------------------------------|--------------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$941.00 | 1 / each | \$941.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$1,300.00 | 1 / each | \$1,300.00 | | Υ | | | | |
| Product Code: | | Supplier Product C | ode: | | | | | | |

Agency Notes: Supplier Notes:

| PNC2116455C101-27 Imported Item Lot: 4 inch GATE VALVE | | | | | | | | | |
|--------------------------------------------------------|--------------------------|-------------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$821.00 | 4 / each | \$3,284.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$1,300.00 | 4 / each | \$5,200.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-28 Imported Item Lot: 6 inch GATE VALVE | | | | | | | | |
|--------------------------------------------------------|----------------------------------------|---------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$999.00 | 1 / each | \$999.00 | | Υ | | | |
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$1,500.00 | 1 / each | \$1,500.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-29 Imported Item Lot: 8 inch GATE VALVE | | | | | | | | | |
|--------------------------------------------------------|--------------------------|-------------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$1,542.00 | 6 / each | \$9,252.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$2,000.00 | 6 / each | \$12,000.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-30 Imported Item Lot: 4 inch by 2 inch DIP REDUCER | | | | | | | | | |
|-------------------------------------------------------------------|------------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$217.00 | 1 / each | \$217.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$510.00 | 1 / each | \$510.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-31 Imported Item Lot: 4 inch by 2.5 inch DIP REDUCER | | | | | | | | | |
|---------------------------------------------------------------------|------------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$320.00 | 1 / each | \$320.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$560.00 | 1 / each | \$560.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-32 Imported Item Lot: 8 inch by 6 inch DIP REDUCER | | | | | | | | |
|-------------------------------------------------------------------|------------------------|------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$244.00 | 1 / each | \$244.00 | | Υ | | | |
| Product Code: | | Supplier Product Code: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$770.00 | 1 / each | \$770.00 | | Υ | | | |

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

| PNC2116455C101-33 Imported Item Lot: AUTOMATIC AIR RELEASE VALVE | | | | | | | | | |
|------------------------------------------------------------------|--------------------------|-------------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC 👔 | First Offer - \$2,004.00 | 6 / each | \$12,024.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$5,400.00 | 6 / each | \$32,400.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-34 Imported Item Lot: TYPE F CURB AND GUTTER | | | | | | | | |
|-------------------------------------------------------------|------------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$61.00 | 45 / linear foot | \$2,745.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$138.00 | 45 / linear foot | \$6,210.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-35 Imported Item Lot: PAVEMENT MARKING AND RELECTIVE PAVEMENT MARKERS | | | | | | | | |
|--------------------------------------------------------------------------------------|------------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$56.00 | 21 / linear foot | \$1,176.00 | | Υ | | | |
| Product Code: | | Supplier Product Code: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$143.00 | 21 / linear foot | \$3,003.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-36 Imported Item Lot: REMOVE EXISTING PAVEMENT | | | | | | | | |
|---------------------------------------------------------------|----------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$3.00 | 826 / square yard | \$2,478.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$5.00 | 826 / square yard | \$4,130.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-37 Imported Item Lot: PAVEMENT CUT | | | | | | | | | |
|---------------------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$23.50 | 826 / square yard | \$19,411.00 | | Υ | | | | |
| Product Code: | | Supplier Product Code: | | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$74.00 | 826 / square yard | \$61,124.00 | | Y | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-38 Imported Item Lot: TOPSOIL AND SOD | | | | | | | |
|------------------------------------------------------|----------------------|---------------------|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| DBF CONSTRUCTION LLC | First Offer - \$8.75 | 6351 / square yard | \$55,571.25 | | Υ | | |
| Product Code: | | Supplier Product Co | ode: | | | | |
| Agency Notes: | | Supplier Notes: | | | | | |

| Southern Underground Industries, Inc. | First Offer - \$18.00 | 6351 / square yard | \$114,318.00 | Υ |
|---------------------------------------|-----------------------|---------------------|--------------|---|
| Product Code: | | Supplier Product Co | ode: | |
| Agency Notes: | | Supplier Notes: | | |

| PNC2116455C101-39 Imported Item Lot: FINISH ROCK | | | | | | | | |
|--------------------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$12.75 | 994 / square yard | \$12,673.50 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$38.00 | 994 / square yard | \$37,772.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-40 Imported Item Lot: DEWATERING | | | | | | | | |
|-------------------------------------------------|--------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$150.00 | 31 / day | \$4,650.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$1,200.00 | 31 / day | \$37,200.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-41 Imported Item Lot: SUBSURFACE UTILITY ENGINEERING | | | | | | | | | |
|---------------------------------------------------------------------|------------------------|-------------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$110.00 | 26 / each | \$2,860.00 | | Υ | | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$610.00 | 26 / each | \$15,860.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-42 Imported Item Lot: STORM WATER POLLUTION PREVENTION | | | | | | | | |
|-----------------------------------------------------------------------|----------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$0.50 | 17700 / linear foot | \$8,850.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$3.10 | 17700 / linear foot | \$54,870.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-43 Imported Item Lot: SOIL REMOVAL/REPLACEMENT | | | | | | | | |
|---------------------------------------------------------------|------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$9.00 | 360 / cubic yard | \$3,240.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$130.00 | 360 / cubic yard | \$46,800.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-44 Imported Item Lot: TREE PROTECTION FENCE | | | | | | | | |
|------------------------------------------------------------|----------------------|---------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$0.50 | 3200 / linear foot | \$1,600.00 | | Υ | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | |

| Agency Notes: | | Supplier Notes: | | | | |
|---------------------------------------|----------------------|------------------------|-------------|---|--|--|
| Southern Underground Industries, Inc. | First Offer - \$6.10 | 3200 / linear foot | \$19,520.00 | Υ | | |
| Product Code: | | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | |

| PNC2116455C101-45 Imported Item Lot: TREE RELOCATION | | | | | | | | |
|------------------------------------------------------|--------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$1,000.00 | 21 / each | \$21,000.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$1,300.00 | 21 / each | \$27,300.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-46 Imported Item Lot: MAXICOM COMPUTER | | | | | | | | |
|-------------------------------------------------------|---------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$21,340.00 | 1 / each | \$21,340.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$68,000.00 | 1 / each | \$68,000.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-47 Imported Item Lot: MAXICOM PROGRAMMING AND TRAINING | | | | | | | | |
|-----------------------------------------------------------------------|---------------------------|--------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$5,020.00 | 1 / each | \$5,020.00 | | Υ | | | |
| Product Code: | | Supplier Product C | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$19,000.00 | 1 / each | \$19,000.00 | | Υ | | | |
| Product Code: | | Supplier Product C | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |

| PNC2116455C101-48 Imported Item Lot: UPGRADE IRRIGATION PUMP STATION | | | | | | | | |
|----------------------------------------------------------------------|---------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$60,000.00 | 1 / each | \$60,000.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$79,000.00 | 1 / each | \$79,000.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-49 Imported Item Lot: CLUSTER CONTROL UNIT(CCU) | | | | | | | | |
|----------------------------------------------------------------|---------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$9,715.00 | 1 / each | \$9,715.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$40,000.00 | 1 / each | \$40,000.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-50 Imported Item Lot: WEATHER STATION | | | | | | | |
|------------------------------------------------------|---------------------------|----------|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| DBF CONSTRUCTION LLC | First Offer - \$20,350.00 | 1 / each | \$20,350.00 | | Υ | | |

| Product Code: | | Supplier Product C | ode: | | |
|---------------------------------------|---------------------------|--------------------|-------------|---|---|
| Agency Notes: | | Supplier Notes: | | | |
| Southern Underground Industries, Inc. | First Offer - \$33,000.00 | 1 / each | \$33,000.00 | ١ | Y |
| Product Code: | | Supplier Product C | ode: | | |
| Agency Notes: | | Supplier Notes: | | | |

| PNC2116455C101-51 Imported Item Lot: REMOVE EXISTING CONTROLLER | | | | | | | | |
|-----------------------------------------------------------------|--------------------------|-------------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$4,400.00 | 1 / each | \$4,400.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$6,100.00 | 1 / each | \$6,100.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-52 Imported Item Lot: BOOSTER PUMP STATION | | | | | | | | |
|-----------------------------------------------------------|---------------------------|--------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$59,000.00 | 1 / each | \$59,000.00 | | Υ | | | |
| Product Code: | | Supplier Product C | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$82,000.00 | 1 / each | \$82,000.00 | | Υ | | | |
| Product Code: | | Supplier Product C | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |

| PNC2116455C101-53 Imported Item Lot: RAIN BIRD ESP 24SATLS | | | | | | | | |
|------------------------------------------------------------|--------------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$3,176.00 | 1 / each | \$3,176.00 | | Υ | | | |
| | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$9,300.00 | 1 / each | \$9,300.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-54 Imported Item Lot: RAIN BIRD ESP 40SATLS | | | | | | | | |
|------------------------------------------------------------|---------------------------|--------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer · \$4,950.00 | 1 / each | \$4,950.00 | | Υ | | | |
| Product Code: | | Supplier Product C | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$12,000.00 | 1 / each | \$12,000.00 | | Υ | | | |
| Product Code: | | Supplier Product C | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |

| PNC2116455C101-55 Imported Item Lot: WIRES FROM NEW ESP 40SATLS TO EXISTING SOLAR CONTROLLER | | | | | | | | | |
|----------------------------------------------------------------------------------------------|----------------------|----------------------------------------|-------------------------------------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$1.25 | 14200 / linear foot | \$17,750.00 | | Υ | | | | |
| Product Code: Agency Notes: | | | Supplier Product Code: Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$6.10 | 14200 / linear foot | \$86,620.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-56 Imported Item Lot: RAIN GAUGE | | | | | | | |
|-------------------------------------------------|------------|----------|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |

| DBF CONSTRUCTION LLC | First Offer - \$890.00 | 1 / each | \$890.00 | Υ |
|---------------------------------------|----------------------------------------|--------------------|------------|---|
| Product Code: Agency Notes: | Supplier Product Code: Supplier Notes: | | | |
| Southern Underground Industries, Inc. | First Offer - \$1,700.00 | T | \$1,700.00 | v |
| Product Code: | | Supplier Product C | | 1 |
| Agency Notes: | | Supplier Notes: | | |

| PNC2116455C101-57 Imported Item Lot: RAIN BIRD ESP 24SATLS | | | | | | | | |
|------------------------------------------------------------|--------------------------|---------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$3,175.00 | 2 / each | \$6,350.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$9,300.00 | 2 / each | \$18,600.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-58 Imported Item Lot: OPTIONAL: IRRIGATION PUMP STATION FILTRATION SYSTEM | | | | | | | | | |
|------------------------------------------------------------------------------------------|---------------------------|---------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$38,535.00 | 1 / each | \$38,535.00 | | Υ | | | | |
| Product Code: | | Supplier Product C | ode: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$50,000.00 | 1 / each | \$50,000.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-59 Imported Item Lot: ELECTRICAL METER | | | | | | | | | |
|-------------------------------------------------------|--------------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$5,000.00 | 1 / each | \$5,000.00 | | Y | | | | |
| Product Code: Agency Notes: | | Supplier Product Code: Supplier Notes: | | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$6,100.00 | 1 / each | \$6,100.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-60 Imported Item Lot: ELECTRICAL PANEL | | | | | | | | | |
|-------------------------------------------------------|---------------------------|---------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$3,000.00 | 1 / each | \$3,000.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | code: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$19,000.00 | 1 / each | \$19,000.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | code: | | | | | | |

| PNC2116455C101-61 Imported Item Lot: TRANSIENT VOLTAGE SURGE SUPPRESSOR | | | | | | | | | |
|-------------------------------------------------------------------------|--------------------------|---------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| Southern Underground Industries, Inc. | First Offer - \$610.00 | 1 / each | \$610.00 | | Υ | | | | |
| Product Code: | | Supplier Product C | ode: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$4,000.00 | 1 / each | \$4,000.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

PNC2116455C1--01-62 Imported Item Lot: WEATHER PROOF, GROUND FAULT CIRCUIT INTERUPPTER RECEPTACLE

| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | |
|---------------------------------------|--------------------------|------------------------|-------------|--------|------|--|
| Southern Underground Industries, Inc. | First Offer - \$130.00 | 1 / each | \$130.00 | | Υ | |
| Product Code: | | Supplier Product Code: | | | | |
| Agency Notes: | | Supplier Notes: | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$4,000.00 | 1 / each | \$4,000.00 | | Υ | |
| Product Code: | | Supplier Product C | ode: | | | |
| Agency Notes: | | Supplier Notes: | | | | |

| PNC2116455C101-63 Imported Item Lot: 200 AMP, 2 POLE, HEAVY DUTY, NEMA 4 SAFETY SWITCH | | | | | | | | | |
|----------------------------------------------------------------------------------------|--------------------------|---------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | 1 | Total Price | Attch. | Docs | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$3,000.00 | 1 / each | \$3,000.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$3,500.00 | 1 / each | \$3,500.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-64 Imported Item Lot: 1/2 inch CONDUIT | | | | | | | | | |
|-------------------------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| Southern Underground Industries, Inc. | First Offer - \$11.00 | 10 / linear foot | \$110.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$60.00 | 10 / linear foot | \$600.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-65 Imported Item Lot: 2 inch CONDUIT | | | | | | | | | |
|-----------------------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| Southern Underground Industries, Inc. | First Offer - \$14.00 | 20 / linear foot | \$280.00 | | Υ | | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$48.00 | 20 / linear foot | \$960.00 | | Υ | | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | | |

| PNC2116455C101-66 Imported Item Lot: 3 inch CONDUIT | | | | | | | | |
|-----------------------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$26.00 | 960 / linear foot | \$24,960.00 | | Υ | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$26.50 | 960 / linear foot | \$25,440.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-67 Imported Item Lot: UNISTRUT SUPPORT RACK | | | | | | | | |
|------------------------------------------------------------|----------------------------------------|------------------------------------------------------------------------------------------------------------------------------------------------|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------|--|--|--|--|
| Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | | |
| First Offer - \$1,000.00 | 1 / each | \$1,000.00 | | Υ | | | | |
| | Supplier Product C | ode: | | | | | | |
| | Supplier Notes: | | | | | | | |
| First Offer - \$1,900.00 | 1 / each | \$1,900.00 | | Υ | | | | |
| | Supplier Product C | ode: | | | | | | |
| | Supplier Notes: | | | | | | | |
| | Unit Price First Offer - \$1,000.00 | Unit Price Qty/Unit First Offer - \$1,000.00 1 / each Supplier Product C Supplier Notes: First Offer - \$1,900.00 1 / each Supplier Product C | Unit Price Qty/Unit Total Price First Offer - \$1,000.00 1 / each \$1,000.00 Supplier Product Code: Supplier Notes: First Offer - \$1,900.00 1 / each \$1,900.00 Supplier Product Code: | Unit Price Qty/Unit Total Price Attch. | | | | |

| PNC2116455C101-68 Imported Item Lot: CONCRETE BASE | | | | | | | |
|----------------------------------------------------|--------------------------|---------------------------------------|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| DBF CONSTRUCTION LLC | First Offer - \$2,000.00 | 1 / each | \$2,000.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | |
| Southern Underground Industries, Inc. | First Offer - \$4,300.00 | 1 / each | \$4,300.00 | | Υ | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | |

| PNC2116455C101-69 Imported Item Lot: 350 KCMIL WIRE | | | | | | | | |
|-----------------------------------------------------|----------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$5.00 | 5800 / linear foot | \$29,000.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$6.10 | 5800 / linear foot | \$35,380.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-70 Imported Item Lot: #3/0 WIRE | | | | | | | | |
|------------------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$10.00 | 10 / linear foot | \$100.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$35.00 | 10 / linear foot | \$350.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-71 Imported Item Lot: #1/0 WIRE | | | | | | | | |
|------------------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$8.00 | 65 / linear foot | \$520.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$35.00 | 65 / linear foot | \$2,275.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-72 | | | | | | | | |
|---------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$5.00 | 12 / linear foot | \$60.00 | | Υ | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$35.00 | 12 / linear foot | \$420.00 | | Y | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-73 | | | | | | | | |
|---------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$3.80 | 35 / linear foot | \$133.00 | | Υ | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC 👔 | First Offer - \$35.00 | 35 / linear foot | \$1,225.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-74 Imported Item Lot: #10 WIRE | | | | | | | | |
|-----------------------------------------------|-----------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$3.20 | 35 / linear foot | \$112.00 | | Υ | | | |
| Product Code: | | Supplier Product Co | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$35.00 | 35 / linear foot | \$1,225.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-75 Imported Item Lot: STAINLESS STEEL UNISTRUT SUPPORT RACK | | | | | | | | |
|----------------------------------------------------------------------------|--------------------------|--------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$1,500.00 | 1 / each | \$1,500.00 | | Υ | | | |
| Product Code: | | Supplier Product C | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$2,500.00 | 1 / each | \$2,500.00 | | Υ | | | |
| Product Code: | | Supplier Product C | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |

| PNC2116455C101-76 Imported Item Lot: 3/4 inch by 10 foot GROUND ROD | | | | | | | | |
|---------------------------------------------------------------------|--------------------------|---------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| Southern Underground Industries, Inc. | First Offer - \$370.00 | 1 / each | \$370.00 | | Υ | | | |
| Product Code: | | Supplier Product C | ode: | | | | | |
| Agency Notes: | | Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$1,000.00 | 1 / each | \$1,000.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product C Supplier Notes: | ode: | | | | | |

| PNC2116455C101-77 Imported Item Lot: BITUMASTIC PAINT APPLIED | | | | | | | | |
|---------------------------------------------------------------|------------------------|----------------------------------------|-------------|--------|------|--|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | | |
| DBF CONSTRUCTION LLC | First Offer - \$550.00 | 1 / each | \$550.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |
| Southern Underground Industries, Inc. | First Offer - \$610.00 | 1 / each | \$610.00 | | Υ | | | |
| Product Code: Agency Notes: | | Supplier Product Co Supplier Notes: | ode: | | | | | |

| PNC2116455C101-78 Imported Item Lot: PULLBOXES | | | | | | | |
|------------------------------------------------|--------------------------|-------------------------------------------|-------------|--------|------|--|--|
| Supplier | Unit Price | Qty/Unit | Total Price | Attch. | Docs | | |
| Southern Underground Industries, Inc. | First Offer - \$740.00 | 3 / each | \$2,220.00 | | Υ | | |
| Product Code: | Supplier Product Code: | | | | | | |
| Agency Notes: | Supplier Notes: | | | | | | |
| DBF CONSTRUCTION LLC | First Offer - \$1,500.00 | 3 / each | \$4,500.00 | | Υ | | |
| | | Supplier Product Code: Supplier Notes: | | | | | |

Supplier Totals

| | <u> </u> | | |
|---|----------------------|----------------|---------------|
| f | DBF CONSTRUCTION LLC | \$1,327,293.75 | (78/78 items) |
| | | | |

Bid Contact mark giannetti Address 1850 nw 15th ave suite 225

steph@dbfconst.comcastbiz.net pompano beach fl, FL 33069

Ph 954-892-1697

Qualifications WBE

| | Court | • | |
|----------------------------|------------------------------------------------------------|---------------------------------------------------------|----------------------------------|
| Bid Bond | (Status: Authorized on Oct 12, 2018) | | |
| Agency Note: | s: | Supplier Notes: | Head Attch: (§) \$19,000.0 |
| Allowance | | | |
| f Southern I | Inderground Industries, Inc. | \$2,295,524.00 (78/7 | 8 items) |
| Bid Contact | Juan Barreneche juanb@southernui.com Ph 954-650-4699 | Address 3453 NW 44 Street, Su Oakland Park, FL 33309 | |
| Qualifications | CBE DBE MBE SB SBE | | |
| Agency Note: Bid Allowance | s: | Supplier Notes: | Head Attch: ① \$19,000.0 |
| SkyData UA | V | \$2,450. | 00 (1/78 items |
| Bid Contact | David Oakes david@skydatauav.com Ph 954-533-3194 | Address 4179 Davie Road Suite 200 Davie, FL 33314 | |
| Qualifications | CBE SB SBE | | |
| Agency Note: | s: | Supplier Notes: | |